

$$x^3 y + x^2 y' = x+1$$

on pose $\underbrace{ux^3}_v + \underbrace{ux^2 y'}_v = u(x+1)$

$$v' = ux^3 \quad \text{d-} \quad ux^2 = v$$

$$\text{Dre } ux^3 = u'x^2 + 2xu$$

$$\Leftrightarrow u(x^3 - 2x) = u'x^2$$

$$\Leftrightarrow \frac{u'}{u} = x - \frac{2}{x}$$

$$\Leftrightarrow \ln(u) = \frac{x^2}{2} - 2\ln(x) + K$$

$$u = d e^{x^2/2 - 2\ln(x)} = d e^{x^2/2} \times e^{2\ln(1/x)}$$

$$= \frac{d}{x^2} e^{x^2/2}$$

on adde

$$\frac{d}{x^2} x^3 e^{x^2/2} y + \frac{d e^{x^2/2}}{x^2} x^2 y' = \frac{d(x+1)}{x^2} e^{x^2/2}$$

$$\Leftrightarrow [dx e^{x^2/2} y + d e^{x^2/2} y]' = \frac{d(x+1)}{x^2} e^{x^2/2}$$

$$\Leftrightarrow [d e^{x^2/2} y]' = \frac{d(x+1)}{x^2} e^{x^2/2}$$

$$d e^{x^2/2} y = \int \frac{d(x+1)}{x^2} e^{x^2/2} + K.$$

$$\Leftrightarrow y = \frac{\int \frac{(x+1)}{x^2} e^{x^2/2} + \beta e^{-x^2/2}}{e^{x^2/2}}$$